2022 Election Summary

1. Total Candidates - 368

Office Office	# of Candidates	Total Receipts	<u>Total Expenditures</u>
Governor	19	\$8,830,380.21	\$8,593,608.82
Lt. Governor	10	\$3,615,026.92	\$4,140,615.39
Senate	69	\$3,207,019.16	\$2,628,207.64
House	151	\$3,783,279.29	\$3,383,178.28
Honolulu City Council	20	\$2,151,567.56	\$1,861,809.10
Hawaii County Council	22	\$387,277.57	\$293,557.13
Maui Mayor	8	\$1,453,345.03	\$1,358,511.86
Maui County Council	28	\$1,015,466.17	\$929,225.74
Kauai Mayor	4	\$230,990.01	\$209,446.43
Kauai County Council	19	\$230,046.46	\$167,406.10
Office of Hawaiian Affairs	18	\$245,790.88	\$252,579.95

- 2. # of seats up for election in 2022 115 of 128 State and County seats in the State of Hawaii
 - Incumbents 89 candidates
 - O Won 78 (88% of 89 incumbents that ran)
 - o Lost 11

Incumbents That Lost (11) (Totals as of November 8, 2022)

Candidate Name	Office	District	County	Party	Closing Cash	Total Debts	Surplus/(Deficit)
Acasio, Laura*	Senate	1		Democrat	\$17,288.59	\$0.00	\$17,288.59
Ahu Isa, Lei	ОНА	At-Large		Non-Partisan	\$0.00	\$0.00	\$0.00
Clark, Linda	House	13		Democrat	\$6,046.85	\$0.00	\$6,046.85
Eli, Stacelynn	House	43		Democrat	(\$2,572.63)	\$0.00	(\$2,572.63)
Har, Sharon	House	42		Democrat	\$15,592.38	\$5,000.00	\$10,592.38
Kobayashi, Dale	House	22		Democrat	\$13,597.67	\$0.00	\$13,597.67
LoPresti, Matthew	House	41		Democrat	\$803.28	\$0.00	\$803.28
Misalucha, Bennette	Senate	16		Democrat	\$52,553.98	\$0.00	\$52,553.98
Riviere, Gil	Senate	23		Democrat	\$15,923.06	\$0.00	\$15,923.06
Takumi, Roy*	House	34	_	Democrat	(\$148.62)	\$0.00	(\$148.62)
Victorino, Michael	Mayor		Maui	Non-Partisan	\$93,827.08	\$0.00	\$93,827.08

^{*} Lost to other Incumbent due to being reapportioned into same district (2)

- Challengers 154 candidates
 - Won 9 (6% of the 154 challengers that ran)
 - o Lost 145

Challengers That Won (9) (Totals as of November 8, 2022)

Candidate Name	Office	District	County	Party	Closing Cash	Total Debts	Surplus/(Deficit)
Alcos, David*	House	41		Republican	\$7,128.47	\$3,750.00	\$3,378.47
Awa, Brenton*	Senate	23		Republican	\$2,106.62	\$0.00	\$2,106.62
Bissen, Richard*	Mayor		Maui	Non-Partisan	\$15,240.82	\$0.00	\$15,240.82
Elefante, Brandon	Senate	16		Democrat	\$53,850.58	\$0.00	\$53,850.58
Galuteria, Brickwood	ОНА	At-Large		Non-Partisan	\$51,007.48	\$0.00	\$51,007.48
Garcia, Diamond*	House	42		Republican	\$22,480.96	\$0.00	\$22,480.96
Garrett, Andrew*	House	22		Democrat	\$20,332.42	\$14,530.95	\$5,801.47

Poepoe, Mahina*	House	13	Democrat	\$7,253.14	\$1,285.27	\$5,967.87
Souza, Kanani*	House	43	Republica	n \$242.31	\$7,983.08	(\$7,740.77)

^{*} Never Held Elected Office Before (7)

- Open 125 candidates
 - o Won 28 (22% of the 125 candidates that ran for open seats)
 - o Lost 97

Candidates That Ran for Open Seats and Won (28) (Totals as of November 8, 2022)

Candidate Name	Office	District	County	Party	Closing Cash	Total Debts	Surplus/(Deficit)
Aiu, Micah*	House	32		Democrat	\$25,159.39	\$0.00	\$25,159.39
Amato, Terez*	House	11		Democrat	\$695.35	\$0.00	\$695.35
Aquino, Henry	Senate	19		Democrat	\$81,625.53	\$0.00	\$81,625.53
Bulosan, Addison*	Kauai Council	At-Large	Kauai	Non-Partisan	\$3,014.82	\$0.00	\$3,014.82
Chun, Cory*	House	35		Democrat	\$15,045.61	\$1,352.91	\$13,692.70
Cochran, Elle	House	14		Democrat	(\$21,873.65)	\$0.00	(\$21,873.65)
Cook, Thomas*	Maui Council	South Maui	Maui	Non-Partisan	\$11,029.88	\$0.00	\$11,029.88
Dos Santos-Tam, Tyler*	Honolulu Council	6	Honolulu	Non-Partisan	\$14,104.94	\$7,500.00	\$6,604.94
Evans, Cindy	Hawaii Council	9	Hawaii	Non-Partisan	\$8,005.78	\$9,207.74	(\$1,201.96)
Fukunaga, Carol	Senate	11		Democrat	\$22,657.84	\$81,704.17	(\$59,046.33)
Galimba, Michelle*	Hawaii Council	6	Hawaii	Non-Partisan	\$874.32	\$0.00	\$874.32
Green, Josh	Governor			Democrat	\$393,763.49	\$0.00	\$393,763.49
Hussey-Burdick, Natalia*	House	50		Democrat	\$1,346.73	\$2,000.00	(\$653.27)
Kagiwada, Jennifer*	Hawaii Council	2	Hawaii	Non-Partisan	\$1,676.52	\$0.00	\$1,676.52
Kahaloa, Kirstin*	House	6		Democrat	\$18,176.23	\$0.00	\$18,176.23
Kila, Darius*	House	44		Democrat	\$11,816.40	\$0.00	\$11,816.40
Lamosao, Rachele*	House	36		Democrat	\$23,767.22	\$5,000.00	\$18,767.22
Luke, Sylvia	Lt. Governor			Democrat	\$102,970.35	\$0.00	\$102,970.35
Martinez, Rosebella*	House	40		Democrat	\$143.35	\$14,107.30	(\$13,963.95)
McKelvey, Angus	Senate	6		Democrat	(\$8,350.88)	\$22,736.71	(\$31,087.59)
Okimoto, Val	Honolulu Council	8	Honolulu	Non-Partisan	\$56,338.69	\$4,022.93	\$52,315.76
Pierick, Elijah*	House	39		Republican	(\$4,100.97)	\$2,682.84	(\$6,783.81)
Rapozo, Melvin	Kauai Council	At-Large	Kauai	Non-Partisan	\$27,829.41	\$10,000.00	\$17,829.41
Richards, Herbert	Senate	4		Democrat	\$62,875.34	\$0.00	\$62,875.34
Souza, Keoni*	ОНА	At-Large		Non-Partisan	\$4,826.01	\$69,382.61	(\$64,556.60)
Takenouchi, Jenna*	House	27		Democrat	\$26,767.74	\$0.00	\$26,767.74
Uu-Hodgins, Nohelani*	Maui Council	Makawao	Maui	Non-Partisan	\$34,075.31	\$0.00	\$34,075.31
Weyer, Matt*	Honolulu Council	2	Honolulu	Non-Partisan	\$1,737.58	\$0.00	\$1,737.58

^{*} Never Held Elected Office Before (18)

3. Top 10 Receipts (includes Contributions Received, Other Receipts and Loans)

Candidate Name	Office	District	County	Party	Won	Total Receipts
Green, Josh	Governor			Democrat	Yes	\$4,256,969.28
Cayetano, Vicky	Governor			Democrat	No	\$3,271,331.15
Luke, Sylvia	Lt. Governor			Democrat	Yes	\$1,456,671.61
Amemiya, Keith	Lt. Governor			Democrat	No	\$903,149.62

Bissen, Richard	Mayor		Maui	Non-Partisan	Yes	\$723,102.91
Anderson, Ikaika	Lt. Governor			Democrat	No	\$608,745.89
Victorino, Michael	Mayor		Maui	Non-Partisan	No	\$562,934.16
Menor-McNamara, Sherry	Lt. Governor			Democrat	No	\$553,719.83
Menor, Ron	Honolulu Council	8	Honolulu	Non-Partisan	No	\$526,240.73
Waters, Tommy	Honolulu Council	4	Honolulu	Non-Partisan	Yes	\$323,719.53

4. Top 10 Contributions Received

Candidate Name	Office	District	County	Party	Won	Contributions Received
Green, Josh	Governor			Democrat	Yes	\$4,140,273.54
Luke, Sylvia	Lt. Governor			Democrat	Yes	\$1,403,831.83
Cayetano, Vicky	Governor			Democrat	No	\$899,709.78
Bissen, Richard	Mayor		Maui	Non-Partisan	Yes	\$668,986.01
Anderson, Ikaika	Lt. Governor			Democrat	No	\$608,739.03
Amemiya, Keith	Lt. Governor			Democrat	No	\$592,668.22
Victorino, Michael	Mayor		Maui	Non-Partisan	No	\$531,674.87
Menor, Ron	Honolulu Council	8	Honolulu	Non-Partisan	No	\$518,291.43
Menor-McNamara, Sherry	Lt. Governor			Democrat	No	\$505,623.89
Waters, Tommy	Honolulu Council	4	Honolulu	Non-Partisan	Yes	\$323,719.53

5. Top 10 Loans

Candidate Name	Office	District	County	Party	Won	Loans
Cayetano, Vicky	Governor			Democrat	No	\$2,370,000.00
Amemiya, Keith	Lt. Governor			Democrat	No	\$310,000.00
Fukunaga, Carol	Senate	11		Democrat	Yes	\$85,000.00
Souza, Keoni	ОНА	At-Large		Non-Partisan	Yes	\$68,532.61
Cordery, Gary	Governor			Republican	No	\$52,175.42
Luke, Sylvia	Lt. Governor			Democrat	Yes	\$50,000.00
Iwamoto, Kim Coco	House	25		Democrat	No	\$50,000.00
Simon, Keone	Honolulu Council	8	Hawaii	Non-Partisan	No	\$50,000.00
Penn, Jay Dee	Governor			Republican	No	\$47,694.54
Jenkins, Nalani	Honolulu Council	6	Honolulu	Non-Partisan	No	\$47,280.99

6. Top 10 Surplus (as of November 8, 2022)

Candidate Name	Office	District	County	Party	Won	Surplus
Dela Cruz, Donovan	Senate	17		Democrat	Yes	\$951,928.12
Green, Josh	Governor			Democrat	Yes	\$393,763.49
Kim, Donna	Senate	14		Democrat	Yes	\$217,090.20
Waters, Tommy	Honolulu Council	4	Honolulu	Non-Partisan	Yes	\$189,956.62
Nishimoto, Scott	House	23		Democrat	Yes	\$125,025.53
Keith-Agaran, Gilbert	Senate	5		Democrat	Yes	\$119,435.00
Hashimoto, Troy	House	10		Democrat	Yes	\$114,431.83
Wakai, Glenn	Senate	15		Democrat	Yes	\$112,040.78

Keohokalole, Jarrett	Senate	24	Democrat	Yes	\$106,242.40
Luke, Sylvia	Lt. Governor		Democrat	Yes	\$102,970.35

7. Top 10 Deficit (as of November 8, 2022)

Candidate Name	Office	District	County	Party	Won	(Deficit)
Cayetano, Vicky	Governor			Democrat	No	(\$2,364,950.26)
Amemiya, Keith	Lt. Governor			Democrat	No	(\$584,248.24)
Souza, Keoni	ОНА	At-Large		Non-Partisan	Yes	(\$64,556.60)
Simon, Keone	Honolulu Council	8	Hawaii	Non-Partisan	No	(\$60,941.81)
Fukunaga, Carol	Senate	11		Democrat	Yes	(\$59,046.33)
Cordery, Gary	Governor			Republican	No	(\$49,333.71)
Menor-McNamara, Sherry	Lt. Governor			Democrat	No	(\$44,339.04)
McKelvey, Angus	Senate	6		Democrat	Yes	(\$31,087.59)
Ihara, Les	Senate	10		Democrat	Yes	(\$26,220.04)
Cochran, Elle	House	14		Democrat	Yes	(\$21,873.65)
Waihee, John	ОНА	At-Large		Non-Partisan	Yes	(\$21,258.80)

8. Top 10 Expenditures (includes Expenditures Made and Expenditures Incurred)

						Total
Candidate Name	Office	District	County	Party	Won	Expenditures
Green, Josh	Governor			Democrat	Yes	\$3,972,925.10
Cayetano, Vicky	Governor			Democrat	No	\$3,266,281.41
Luke, Sylvia	Lt. Governor			Democrat	Yes	\$1,728,256.67
Anderson, Ikaika	Lt. Governor			Democrat	No	\$909,726.08
Amemiya, Keith	Lt. Governor			Democrat	No	\$861,307.00
Bissen, Richard	Mayor		Maui	Non-Partisan	Yes	\$665,804.55
Menor-McNamara, Sherry	Lt. Governor			Democrat	No	\$553,058.87
Menor, Ron	Honolulu Council	8	Honolulu	Non-Partisan	No	\$538,077.12
Victorino, Michael	Mayor		Maui	Non-Partisan	No	\$526,167.79
Saiki, Scott	House	25		Democrat	Yes	\$386,355.82

9. Top 10 Primary Election Cost Per Vote

Candidate Name	Office	District	County	Party	Won	Total Expenditures	Primary Vote	Primary Cost Per Vote
Saiki, Scott	House	25		Democrat	Yes	\$386,355.82	2,680	\$144.16
Har, Sharon	House	42		Democrat	No	\$131,985.97	1,257	\$105.00
Caravalho, Ernest	House	28		Democrat	No	\$1,210.40	17	\$71.20
Morgan, Paul	Governor			Republican	No	\$49,688.17	796	\$62.42
Cayetano, Vicky	Governor			Democrat	No	\$3,266,281.41	52,447	\$62.28
Souza, Kapono	Senate	13		Green	No	\$2,244.34	42	\$53.44
Iwamoto, Kim Coco	House	25		Democrat	No	\$129,468.13	2,519	\$51.40
Mariano, Lynn	Governor			Republican	No	\$44,686.69	903	\$49.49
Bissen, Richard	Mayor		Maui	Non-Partisan	Yes	\$665,804.55	13,498	\$49.33
Menor, Ron	Honolulu Council	8	Honolulu	Non-Partisan	No	\$538,077.12	11,618	\$46.31

10. Top 10 General Election Cost Per Vote

						Total	General	General Cost
Candidate Name	Office	District	County	Party	Won	Expenditures	Vote	Per Vote
Saiki, Scott	House	25		Democrat	Yes	\$386,355.82	5,473	\$70.59
Har, Sharon	House	42		Democrat	No	\$131,985.97	2,991	\$44.13
Menor, Ron	Honolulu Council	8	Honolulu	Non-Partisan	No	\$538,077.12	16,745	\$32.13
Victorino, Michael	Mayor		Maui	Non-Partisan	No	\$526,167.79	19,724	\$26.68
Eli, Stacelynn	House	43		Democrat	No	\$72,996.94	3,223	\$22.65
Belatti, Della	House	26		Democrat	Yes	\$119,322.00	5,465	\$21.83
Bissen, Richard	Mayor		Maui	Non-Partisan	Yes	\$665,804.55	31,381	\$21.22
Lamosao, Rachele	House	36		Democrat	Yes	\$61,260.59	3,071	\$19.95
Kusch, Matthias	Hawaii Council	2	Hawaii	Non-Partisan	No	\$74,852.83	3,979	\$18.81
Kidani, Michelle	Senate	18		Democrat	Yes	\$211,120.13	11,463	\$18.42

- 11. Partial Public Funds Disbursed \$71,878.29 to 15 candidates (4% of 368 candidates)
 - Outcome 6 successful / 9 unsuccessful
 - Total Candidates Filing the Affidavit 172 (47% of 368 candidates)
 - Total Candidates Filing the Affidavit and Exceeding the Expenditure Limit 1
 - Total Candidates Filing the Statement of Intent 40 (11% of 368 candidates)
- 12. Fundraiser Notices Filed for Fundraisers Held in 2022 (January 1-November 8, 2022) 358 (28 or 8% of the 358 fundraisers were held virtually via Zoom)